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The figures in the right-hand margin indicate full marks.
: Candidates are required to give their answers in their

! own words as far as practicable,

Nllustrate the questions wherever necessary.

First Half
{(Marks : 45)

‘ Group—A
|

1. Answer any five questions : 5x2

l‘{a} What is ‘conimunity indifference curve’?

! {(Turn Over)



(b) Distinguish between d_eprec-iation and devaluation.
) ‘Whét do you uhd:ei's'teind_ by Floating exchange rate ?
(d} What is J curve?

(e) What is meant by protectéd trade ?

() Distinguish between tariff and quota.

(2) Discuss the stability condition of foreign exchange

market. s

(r) What is Leontief paradox?

. Group—B

Answer any three questions. " 3x5

2. State and prove Stolper-Samuesson theorem.

3. What is International Monetary Fund (IMF)? Briefly

describe the functions of IMF.
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4. What is tariff ? Critically discuss the arguments in favour
of imposition of tariff on imported goods.

5. T’ieﬂy describe the concept of factor-intensity reversals.

6. Explain the Marshall-Lerner condition for the effectiveness

of depreciation.

7. B;ieﬂy describe the functions of the World Bank.

Group—C

Answer any two questions. - 2x10

8. State the a_séumptions of Ricardian theory of comparative
advantage. Show after Ricardo that free international
trade leads to an increase in welfare compared to autarky

in the countries participating in international trade.

9. What are the assumptions of Heckscher-Ohlin trade

mpdel ? Do you think that free trade equalises factor
prices between trading countries in this framework ?

Explain with reason.
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10. Describe the components of ‘balance of payments’
accounts of a country. Do you think ‘balance of payments’

always balances ? Explain.

11. Show that quota leads to a welfare loss compared to an

equivalent tariff. What is optimum tariff ? .

Second Half
(Marks : 45)

Group—A

1. Answer any five questions : 5x2

(a) Distinguish between face value and market value of

a share.

(b} What are the differences between Share and
Bond ?

(c) Distinguish between ‘Primary market’ and ‘Secondary

market’.

{d) Who is ‘sub-broker’ in stock market?
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(e} Write the full forms of SENSEX and NIFTY.
(f} What do you understand by Preferential share ?

{g) What do you understand by repo rate ?

(h) What is ‘Commercial bill'?

Group—B

Answer any three questions. 3x5

2. (What is credit rating ? Briefly describe the role of credit

‘rating agencies.

3. What is SENSEX ? How is BSE SENSEX determined ?
4, ‘What is ‘treasury bill’ ? Briefly describe the characteﬁstics

of 4reasury bill'’ market in India.

8. Distinguish between organised and unorganised capital

market.
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6.

10.

11.

What is ‘money multiplier’'? Derive the expression of

‘money multiplier’.

Briefly describe the characteristics of loans in the call

money market.

Group—C

Answer any fwo questions. 2x10

Distinguish between ‘Commercial Banks’ and ‘Non-
Banking Financial Intermediaries (NBFls). Describe the
functions of NBFIs-

Describe the functions of Securities and Exchange Board
of India (SEBI) as he regulatory authority of Indian capital

market,

Describe the instruments used by Central Bank to control
the process of credit creation by the Commercial Banking

system of a country.

Describe the importance of stock market in the economic

development process of an economy.
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